
Copyright © 2022 Johnny’s Selected Seeds. All rights reserved. 

 

SEED BREEDERS, GROWERS, AND MERCHANTS SINCE 1973 

 

 
 

955 Benton Ave., Winslow, ME 04901 • Phone: 1-877-564-6697 • Fax: 1-800-738-6314 

Email: service@johnnyseeds.com • Web Site: Johnnyseeds.com 
 

Part ID Part Description Quantity  Part ID Part Description Quantity 

- Bobcat Half-Bows – 16' long 26  A #12 x ¾" Tek Screw 300 

- 16' Bobcat Ridge Connectors 13  B #12 x 1" Tek Screw 400 

- Ground Posts – 4' long  26  C #12 x 1" Woodmate Screw 100 

- Ridge Purlins (Swaged) – 12' 3" long 3  D #12 x 1½" Woodmate Screw 200 

- Ridge Purlins – 12' 2" long 1  E ¼" x 1" Hex Head Bolt 100 

- Wind Braces – 54" long 4  F 5/16" x 1½" Carriage Bolt 16 

- Single Wire Lock Channels – 12' long 20  G 5/16" x 2½ " Carriage Bolt 50 

- Double Lock Channels – 12' long 8  H 5/16" x 4" Carriage Bolt 50 

- Channel Wires – 4' long 100  I 5/16" x 3½" Eye Bolt 30 

- Sidewall T-Plates  4  J 5/16" Flat Washer 40 

- Sidewall Connector Plates 8  K 5/16" Hex Nut 216 

- Roll-Up Side Pipe (Swaged) – 12' 3" long 8  L ¼" Hex Nut 100 

- Roll-Up Side Curtain Caps – 12' long 8  M End Wall Brackets 16 

- Polyester Rope – 125' long 2  N 15/8" 2-Hole Pipe Straps 50 

- Rope Hooks 14  O 13/8" 2-Hole Pipe Straps 50 

- U-Brackets 4  P 13/8" Brace Bands 41 

- 13/8" OD x 12" Pipe 2  Q 1½ " Angle Brackets 16 

- 15/8" OD x 72" Roll-Up Prop Bar 4     

- 32’ X 100’ Roll of Poly Film 1     

 

 
 

02.07.2022  |  JG. ms 

#6795 Bobcat Standard High Tunnel Kit 
       Parts List 


